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NEW QUESTION 1
A threat hunting team receives a report about possible APT activity in the network. Which of the following threat management frameworks should the team
implement?

A. NIST SP 800-53
B. MITRE ATT&CK
C. The Cyber Kill Chain
D. The Diamond Model of Intrusion Analysis

Answer: A

Explanation: 
Reference: https://nvlpubs.nist.gov/nistpubs/legacy/sp/nistspecialpublication800-30r1.pdf

NEW QUESTION 2
A company has decided to purchase a license for software that is used to operate a mission-critical process. The third-party developer is new to the industry but is
delivering what the company needs at this time.
Which of the following BEST describes the reason why utilizing a source code escrow will reduce the operational risk to the company if the third party stops
supporting the application?

A. The company will have access to the latest version to continue development.
B. The company will be able to force the third-party developer to continue support.
C. The company will be able to manage the third-party developer’s development process.
D. The company will be paid by the third-party developer to hire a new development team.

Answer: B

NEW QUESTION 3
A SOC analyst is reviewing malicious activity on an external, exposed web server. During the investigation, the analyst determines specific traffic is not being
logged, and there is no visibility from the WAF for the web application.
Which of the following is the MOST likely cause?

A. The user agent client is not compatible with the WAF.
B. A certificate on the WAF is expired.
C. HTTP traffic is not forwarding to HTTPS to decrypt.
D. Old, vulnerable cipher suites are still being used.

Answer: B

Explanation: 
Reference: https://aws.amazon.com/premiumsupport/knowledge-center/waf-block-http-requests-no-user-agent/

NEW QUESTION 4
A security engineer estimates the company’s popular web application experiences 100 attempted breaches per day. In the past four years, the company’s data
has been breached two times.
Which of the following should the engineer report as the ARO for successful breaches?

A. 0.5
B. 8
C. 50
D. 36,500

Answer: A

Explanation: 
Reference: https://blog.netwrix.com/2020/07/24/annual-loss-expectancy-and-quantitative-risk-analysis/
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NEW QUESTION 5
During a system penetration test, a security engineer successfully gained access to a shell on a Linux host as a standard user and wants to elevate the privilege
levels.
Which of the following is a valid Linux post-exploitation method to use to accomplish this goal?

A. Spawn a shell using sudo and an escape string such as sudo vim -c ‘!sh’.
B. Perform ASIC password cracking on the host.
C. Read the /etc/passwd file to extract the usernames.
D. Initiate unquoted service path exploits.
E. Use the UNION operator to extract the database schema.

Answer: C

Explanation: 
Reference: https://docs.rapid7.com/insightvm/elevating-permissions/

NEW QUESTION 6
During a remodel, a company’s computer equipment was moved to a secure storage room with cameras positioned on both sides of the door. The door is locked
using a card reader issued by the security team, and only the security team and department managers have access to the room. The company wants to be able to
identify any unauthorized individuals who enter the storage room by following an authorized employee.
Which of the following processes would BEST satisfy this requirement?

A. Monitor camera footage corresponding to a valid access request.
B. Require both security and management to open the door.
C. Require department managers to review denied-access requests.
D. Issue new entry badges on a weekly basis.

Answer: A

Explanation: 
Reference: https://www.getkisi.com/access-control

NEW QUESTION 7
A company is implementing SSL inspection. During the next six months, multiple web applications that will be separated out with subdomains will be deployed.
Which of the following will allow the inspection of the data without multiple certificate deployments?

A. Include all available cipher suites.
B. Create a wildcard certificate.
C. Use a third-party CA.
D. Implement certificate pinning.

Answer: D

NEW QUESTION 8
A company wants to protect its intellectual property from theft. The company has already applied ACLs and DACs. Which of the following should the company use
to prevent data theft?

A. Watermarking
B. DRM
C. NDA
D. Access logging

Answer: D

NEW QUESTION 9
A company is migrating from company-owned phones to a BYOD strategy for mobile devices. The pilot program will start with the executive management team
and be rolled out to the rest of the staff in phases. The company’s Chief Financial Officer loses a phone multiple times a year.
Which of the following will MOST likely secure the data on the lost device?

A. Require a VPN to be active to access company data.
B. Set up different profiles based on the person’s risk.
C. Remotely wipe the device.
D. Require MFA to access company applications.

Answer: D

NEW QUESTION 10
A new web server must comply with new secure-by-design principles and PCI DSS. This includes mitigating the risk of an on-path attack. A security analyst is
reviewing the following web server configuration:

Which of the following ciphers should the security analyst remove to support the business requirements?

A. TLS_AES_128_CCM_8_SHA256
B. TLS_DHE_DSS_WITH_RC4_128_SHA
C. TLS_CHACHA20_POLY1305_SHA256
D. TLS_AES_128_GCM_SHA256

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



Recommend!! Get the Full CAS-004 dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/CAS-004-exam-dumps.html (128 New Questions)

Answer: C

NEW QUESTION 10
A security analyst is performing a vulnerability assessment on behalf of a client. The analyst must define what constitutes a risk to the organization. Which of the
following should be the analyst’s FIRST action?

A. Create a full inventory of information and data assets.
B. Ascertain the impact of an attack on the availability of crucial resources.
C. Determine which security compliance standards should be followed.
D. Perform a full system penetration test to determine the vulnerabilities.

Answer: C

NEW QUESTION 12
A small company recently developed prototype technology for a military program. The company’s security engineer is concerned about potential theft of the newly
developed, proprietary information.
Which of the following should the security engineer do to BEST manage the threats proactively?

A. Join an information-sharing community that is relevant to the company.
B. Leverage the MITRE ATT&CK framework to map the TTR.
C. Use OSINT techniques to evaluate and analyze the threats.
D. Update security awareness training to address new threats, such as best practices for data security.

Answer: D

NEW QUESTION 14
An energy company is required to report the average pressure of natural gas used over the past quarter. A PLC sends data to a historian server that creates the
required reports.
Which of the following historian server locations will allow the business to get the required reports in an ?? and IT environment?

A. In the ?? environment, use a VPN from the IT environment into the ?? environment.
B. In the ?? environment, allow IT traffic into the ?? environment.
C. In the IT environment, allow PLCs to send data from the ?? environment to the IT environment.
D. Use a screened subnet between the ?? and IT environments.

Answer: A

NEW QUESTION 15
An organization is designing a network architecture that must meet the following requirements: Users will only be able to access predefined services.
Each user will have a unique allow list defined for access.
The system will construct one-to-one subject/object access paths dynamically.
Which of the following architectural designs should the organization use to meet these requirements?

A. Peer-to-peer secure communications enabled by mobile applications
B. Proxied application data connections enabled by API gateways
C. Microsegmentation enabled by software-defined networking
D. VLANs enabled by network infrastructure devices

Answer: C

NEW QUESTION 17
An application server was recently upgraded to prefer TLS 1.3, and now users are unable to connect their clients to the server. Attempts to reproduce the error are
confirmed, and clients are reporting the following:
ERR_SSL_VERSION_OR_CIPHER_MISMATCH
Which of the following is MOST likely the root cause?

A. The client application is testing PFS.
B. The client application is configured to use ECDHE.
C. The client application is configured to use RC4.
D. The client application is configured to use AES-256 in GCM.

Answer: C

Explanation: 
Reference: https://kinsta.com/knowledgebase/err_ssl_version_or_cipher_mismatch/
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NEW QUESTION 21
After a security incident, a network security engineer discovers that a portion of the company’s sensitive external traffic has been redirected through a secondary
ISP that is not normally used.
Which of the following would BEST secure the routes while allowing the network to function in the event of a single provider failure?

A. Disable BGP and implement a single static route for each internal network.
B. Implement a BGP route reflector.
C. Implement an inbound BGP prefix list.
D. Disable BGP and implement OSPF.

Answer: B

NEW QUESTION 22
An application developer is including third-party background security fixes in an application. The fixes seem to resolve a currently identified security issue.
However, when the application is released to the public, report come In that a previously vulnerability has returned .
Which of the following should the developer integrate into the process to BEST prevent this type of behavior?

A. Peer review
B. Regression testing
C. User acceptance
D. Dynamic analysis

Answer: A

NEW QUESTION 25
A security analyst is investigating a series of suspicious emails by employees to the security team. The email appear to come from a current business partner and
do not contain images or URLs. No images or URLs were stripped from the message by the security tools the company uses instead, the emails only include the
following in plain text.

Which of the following should the security analyst perform?

A. Contact the security department at the business partner and alert them to the email event.
B. Block the IP address for the business partner at the perimeter firewall.
C. Pull the devices of the affected employees from the network in case they are infected with a zero-day virus.
D. Configure the email gateway to automatically quarantine all messages originating from the business partner.

Answer: A

NEW QUESTION 29
Ann, a CIRT member, is conducting incident response activities on a network that consists of several hundred virtual servers and thousands of endpoints and
users. The network generates more than 10,000 log messages per second. The enterprise belong to a large, web-based cryptocurrency startup, Ann has distilled
the relevant information into an easily digestible report for executive management. However, she still needs to collect evidence of the intrusion that caused the
incident .
Which of the following should Ann use to gather the required information?

A. Traffic interceptor log analysis
B. Log reduction and visualization tools
C. Proof of work analysis
D. Ledger analysis software

Answer: B

NEW QUESTION 34
A company’s claims processed department has a mobile workforce that receives a large number of email submissions from personal email addresses. An
employees recently received an email that approved to be claim form, but it installed malicious software on the employee’s laptop when was opened.

A. Impalement application whitelisting and add only the email client to the whitelist for laptop in the claims processing department.
B. Required all laptops to connect to the VPN before accessing email.
C. Implement cloud-based content filtering with sandboxing capabilities.
D. Install a mail gateway to scan incoming messages and strip attachments before they reach the mailbox.

Answer: C

NEW QUESTION 39
......
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